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Subtraction with 

Europe Money
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Example 1 Example 2

Example 3

Subtract the coins

Example 4

- = 2 - 1

= 1 Euro cent

- = 5 - 2

= 3 Euro 
cents

- = 5 - 1

= 4 Euro 
cents 

-

5 2 + 2- 5 4-

= 1 Euro cent 

=

Example 5 Example 6

Example 7

Subtract the coins

Example 8

- = 10 - 5

= 5 Euro cents

- = 10 - 2

= 8 Euro 
cents

- = 20 - 10

= 20 Euro cents 

- = €2 - €1

= €1
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Example 9 Example 10

Example 11 Example 12

= 10 - 3

= 7 Euro cent

- = 10 - 4

= 6 Euro 
cents

= 20 - 15

= 5 Euro cents 

- = 20 - 5

= 15 Euro 
cents

-

-

- = €10 - €5 €5=

- = €20 - €10 €10=

- = €20 - €5 €15=

- = €50 - €10 €40=

- = €50 - €20 €30=

- = €50 - €5 €45=

Subtract the coins

Subtract the notes
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- = €100 - €15 €85=

- = €100 - €10 €90=

- = €100 - €20 €80=

- = €100 - €50 €50=

- = €50 - €15 €35=

- = €100 - €70 €30=

Example 1

Subtract €55 - €20

5 5

2 0

3 5

-

€55 - €20 = €35

Therefore,

Example 2

Subtract 38 - 24 Euro cents

3 8

2 4

1 4

-

38 - 24 = 14 Euro cents

Therefore,

Subtract the notes
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Sarah has 55 euro cents. She buys a 30 euro cent pencils. 
How much money does she have left?

To know how much money Sarah left,

Subtract 30 from 50

5 5

3 0

2 5

Sarah has 25 euro cents left.  

Example 1

Solution

-

Riya has 60 Euros. She buys 30 euros sneakers and 2 euros 
watermelon. How much money does she have left?   

Example 2

Solution

€60 €30 €2

€30

60 – 30 = 30

30 - 2 = 28

€28

sneakers watermelon

Riya has €28.

-

-
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